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Geometry

An indirect proof is basically carried out by

a) assuming the hypothesis to be true and then by logical
reasoning led to a known accepted conclusion.

b) assuming the hypothesis to be true and thereby by faulty
reasoning led to a known faulty conclusion.

c) assuming the suspected conclusion to be false and then by
Togical reasoning led to a contradiction of some accepted

fact.

d) assuming the suspected conclusion to be true and then by
logical reasoning being Ted to a part or parts of the
conclusion.

e) assuming the hypothesis to be false and then by logical
reasoning being Ted to the suspected conclusion.

If a and b are the coordinates of a point P(a, b), which of the following
statements is/are true?

a) 1f the product of a and b is negative, P 1ies in quadrant II
or quadrant IV.

b) If the product of a and b is positive, P lies in quadrant I or
quadrant TII.

¢) If the product of a and b is zero, a and/br b is zero.
d) a is the abscissa and b is the ordinate.

e) A1l of the above.

The sum of the interior angles of a decagon is

a) 1440°
b) 1080°
c) 360°
d) 540°
e) 720°
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Geometry

In the figure AB is parallel to CD and EF js parallel to GH. Angles AJG
and DKF are £ G

a) complementary I// //

b) supplementary A /// ///J .
¢) alternate interior angles C K 1 D
d} equal in measure
e) none of these

H

In the figure the non-collinear points E, F, G and H are midpoints of
AB, CB, AD, and DC, respectively. Which of the following is true?

a) EF and GH are neither parallel
nor congruent.

b) EF and GH are both parallel and
congruent.

c) EF and GH are parallel but not
congruent. '

d) EF and GH are congruent but not
parailei.

e) A1l of the above are false.

If the vertices of a quadrilateral lie on a circle, the perpendicular
bisectors of all the sides

a) intersect at a point

o

O

)

) are equal
) are perpendicular to each other
)

d) bisect the opposite sides also

e) none of these

A circle can always be circumscribed about any
a) parallelogram d) isosceles trapezoid
b) rhombus e) polygon

¢) quadrilateral
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Geometry

Given the statement: "If Mary can vote, then Mary is over 18." Which of
the following are then necessarily true?

a) If Mary cannot vote, she is not over 18.

b) If Mary is over 18, she can vote.

c) Either Mary can vote, or she is not over 18,

d) Either Mary can vote, or she is over 18.

e) If Mary is not over 18, then she cannot vote.

If two triangles of equal area A have the same base a, then the locus of the
third vertex of the two triangles is

a) a line perpendicular to a at its extremity.

b) a circle with a as diameter

c) a line parallel to a at a distance 1/(2a) from it

d) two lines paraliel to a at a distance of 2A/a from it, one on either
side

e} indeterminant

Given: "If p, then g," which of the following is not represented by "If not q,
then not p?" :

a) The inverse

b) The contrapositive

¢) The inverse of the converse

d)} The converse of the inverse

e) none of these

Two arcs can be made to coincide if they have
) equal central angles
b) the same number of arc degrees
) the same number of inches in length
d) equal central angles in the same circle

e) equal chords
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Geometry

In the circle below, OA is a radius, BC = OA, m{<AOD) equals x and m(<ACO) = y.
Which of the following is true?

In
is

a)
b)
c)
d)

e)

X = 2y A

X = by/2 &

X = 3y C
D 0

X =y

x = 4y

triangle ABC, AB = 4, BC = 6, and LABC = 135°. The area of the triangle is

12 C
6v3

6/2

6v2 + 9 6

none of these : A i 13508

any triangle ABC, if LA + LB = ~C, which one of the following statements
not necessarily true?

ABC is a right triangle.
ABC is an isosceles triangle.
ABC could be inscribed in a semicircle.

The center of the inscribed circle is on the bisector of angle C.

none of the above

The sides of a triangle are 5, 6, and 9 units, respectively. The area of the
triangle in square units is :

15
10vZ
27
10/462

impossible to determine
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In triangle ABC, M is the midpoint of AB.

Then ACBD is always

a

(23 [=n

a

)
)
)
)
)

e

a rhombus
a rectangle
a pyramid

a paralielogram

D

Extend CM to D so that CM =

A

B

a quadrilateral that can be inscribed in a circle

Geometry

What is the area of ABCD if angles B and D are right angles?

a)
b)
c)
d)

e)

ABCD is a rectangle inscribed in circle 0.

to circle 0 at D. The measure of angle DEA s

a)
b)

8

6 + V6
8.5

17

12 + 2/6

30°
20°
609
45°

none of these

- A

D

L]

AC = 2 .

D.

BC and ED is tangent
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Geometry

To find the center of the circle inscribed in a triangie, you would
a} construct the medians of the triangle

b) construct the altitudes of the triangle

c) construct the perpendicular bisectors of the sides

d) construct the exterior angle bisectors

e) construct the angle bisectors

In the figure, AB is 4 and AB is perpendicular to CD at the midpoint of CD.
If CD is 24, find the radius of the circle.

a) 4/10
b) 20
c) 16
d) 24
e) 4/3

In circle 0, a point P divides a chord into segments 3 inches and 6 inches
long. If the diameter of the circle is 11 inches, what is the distance from
P to the center 07

a) 3.5 inches

b) 3.2 inches \\\
¢) 3.8 inches

d) 3.0 inches

e} 2.8 inches

In triangle ABC, LA = 50, £.C = 80. CF bisects £C and AR bisects ZA.
What is the measure of Z ARC?

B
a) 1059
b) 75°

Q .
c) 65 P R
d) 40°
e) 25°
A C



23.

24.

25.

26.

Geometry

A rectangular room is 12 ft. by 16 ft. with height 8 ft. Find the
distance from one upper corner to the diagonally opposite lower corner.
The distance in feet is

a) 20
b} 4/13
c) 4/29
d) 8v5

e) none of these

The difference between the base and altitude of a rectangle is 91 and a
diagonal is 221. The dimensions of the rectangle are

a 52 x 195

o

195 x 104

(@)

)
) 200 x 109
)
)

d) 60 x 151

e) cannot be found

Given a square whose side has length a, find the volume of a right circular
cylinder whose Tateral area is equal to the area of the square and whose
altitude is equal to the length of a side of the square. The volume in cubic
units is

2 3
a a
) o ) 17
b) 4rad e) none of these
3
¢} AL
4

A circle of radius 8 inches has diameters, CD and EF that are perpendicular
to each other. AH is parallel to CD and AF is perpendicular to TD. The
lTength of BH is

e E
a) v89
//"’—_H
b} 8
c) 7 g D
d) V39
e) 6 .



Geometry

In circle O chord AB is perpendicular to diameter CD at E. Which of the

following is not necessarily true? B
a) OA = OB ' ’
C
b) AE = EB : ,
c) AD = DB
d} CE = EO A
N o~ D
e} AC = CB

Let AABC have vertices on a circle. Let AD be an altitude of the triangle
and let AK be a diameter of the circle. If m{Z ABC) = 80° and m(L BCA) = 649,
then the m{Z. DAK) =

a) 10°
b) 12°
c) 16°
d) 18°
e) 26°

Two circles, each of which has a radius of 2, intersect as shown. If the
tangents drawn to the two circles at point A are perpendicular, the area of
the shaded region in square units is

a) 4 -w
by 27 -4
¢c) 2n

d) 4n -2

e) none of these

In circle P, suppose AB is perpendicular to CD at X. AX = 3 cm, BX = 8 cm,
CX = 6 cm, DX = 4 cm.

5/2 A
a) PC =2t cm
. 2
_ ; /,/”"—"h"“\\\ A
b) Pc=§.2@cm X
o P
c) PC = 52 cm
d) PC = 3/3 cm
~e)} none of the above B
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a) $6.70
b) $6.80
c) $6.60
d) $6.20
e) $7.00

Geometry

The centers of two circles, 0 and P, are 16 inches apart. The larger circle
has a radius of 5 inches, and the smaller circle a radius of 3 inches. The
length of the common internal tangent is

a) 10v2 inches

6v2 inches

o

9]

8v3 inches

o

e} none of the above

)
)
} 85 inches
)
)

Which of the following is always a convex plane figure?

a) an angle

b} the interior of a polygon

c) the union of a polygon with its interior

d) the union of a polygon with its exterior

e) a Tine segment.

Two circles have centers at 0. One has a radius OC = 4 feet. The other

has a radius OB = 6.5 feet. £ BOD = 72°. What will it cost to paint the
area ABDC if the quoted price is $3.60 per square yard? Use w = 22/7.

This figure gives the faces of a tetrahedron. Its volume in cubic units is

a) 4/3
b) 8/3
c) 12v3
d) 4/7
e) none of the above

10
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Geometry

In the figure, ARCD is a circumscribed quadrilateral with CD = 6 cm,

BC = 3.5 cm and AB = 3.4 cm. Then AD is equal to

a) 5.9 cm
D c
b) 6.0 cm
c) 6.55 cm
d) 6.9 cm
e) 7.0 cm A B

Given the coordinates of A, B, C, and D, ABCD 1is a square, you could

determine the coordinates of D by

a) using the distance formula

b) solving simultaneously the equations
of Tines AD and CD

c) using the midpoint formula for a segment
d}) aorb

e) a, b, orc

The tip on an arrow has the shape as shown. If the ZABC marked by the
curved arrow is an acute angle, then the sum of the interior angles of the

guadrilateral ABCD

a) 1is less than 180°
b) is less than 360°
) is exactly 360° | D
d) is more than 360°
)

none of these

Square PQRS 1is inscribed in the acute triangle ABC.
square is

a} 1/2 the area of AABC
b) greater than 1/2 the area of AABC

y¢

C

C

AN\,
7

A

The area of the

c) less than 1/2 the area of AABC
d) aorhb
e) none of the above A

11
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Geometry

Three circles of equal radii are inscribed in a larger circle. The area
of the shaded region in the center is 1 square unit. The area of one of
the smaller circles is

2
Vo
21
v
dy

c) 2n - V3
d) . Ar
2V3 -

@) none of these

If in the figure, C is a point on the semicircle with AB as its diameter, if
AM is perpendicular to MN, BN is perpendicular to MN, and CD is perpendicular
to AB, then the FALSE statement is

a) CD=CM=CN M C

b) (CD)% = (AM)(BN) \
c) (cp)2 = (AD)(DB)

d) ZBCN = 1/2 arc AC -

e) none of these A D B

12



